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FH-Abbild (Physikalisches Modell)

VERANSTALTUNG ID NUMBER

<pk.fk2>

Physical Data Model ADRESSE
Model: FH Abbild GESCHLECHT ADRESSE ID NUMBER <pk>
Package: GESCHLECHT CHAR(1) <pk> PIN NUMBER@)  <fki> Lkz
Diagram: fh_abbild KLARTEXT ~ VARCHAR2(10) LKZ VARCHAR2(3) <fk2> LKZ =LKz - LKZ VARCHAR2(3) <pk>
Author: Thorsten Kirch _ Date: 08.11.2010 ANREDE VARCHAR2(10) co VARCHAR2(30) LAND VARCHAR2(50)
Version: 2.2 BRIEFANREDE VARCHAR2(25) STRASSE  VARCHAR2(40) STAATSANG VARCHAR2(80)
PLZ VARCHAR2(10)
ORT VARCHAR2(40)
GESCHLECHT = GESCHLECHT \
PIN = PIN
KRANKENKASSE
KRANKENKASSE_ID = KRANKENKASSE_ID STUDENT
KRANKENKASSE ID NUMBER <pk> PERSON
KK_NAME VARCHAR2(50) PIN NUMBER(4) <pk.fk2>
Z'—E‘SCHLECHT 23%25? 4 i’kL; PIN = PIN FACHRICHTUNG_ID NUMBER  <fk1>
FACHSEM NUMBER
KRANKENKASSE_ID NUMBER <fk2> VERWSEM NUMBER
GEHALTSSTUFE VNAME VARCHAR2(40) BAFOEG NUMBER(6,2)
GEHALTSSTUFE ID NUMBER <pk> ggg'\D"ET \éﬁgHARz(“O)
GS_KUERZEL VARCHAR2(5)
GERALT NUMBER() PIN = PIN FACHRICHTUNG_ID = FACHRICHTUNG_ID
WEIHNAGHTSGELD NUMBER(3) GEHALTSSTUFE_ID = GEHALTSSTUFE_ID - ‘
T FACHRICHTUNG
PRUEFUNG
FACHRICHTUNG ID NUMBER <pk>
VEROEFFENTLICHUNG VITARBEITER STUDIENLEISTUNG ID NUMBER  <pk.fk1> FR_KUERZEL VARCHAR2(6)
VEROEFFENTLICHUNG_ID NUMBER <pk> PIN NUMBER(4)  <pk.fi> FR_BEZ VARCHAR2(100)
PIN NUMBER(@4)  <fk> PIN NUMBER(4) ~ <pk.fi2> PIN = MIT_PIN Semester INTEGER ~ <pk> ANZFACHSEM NUMBER
BUGHTITEL VARCHARZ(250) PIN = PIN GEHALTSSTUFE_ID NUMBER <fk1> MIT_PIN NUMBER(4) <fk3>
JAHR NUMBER(4) KUERZEL CHAR(4) TEILNAHME CHAR(1) <fkd>
VERLAG VARCHAR2(80) TITEL VARCHAR2(40) NOTE NUMBER(2,1)
. BIN - PIN PIN < PIN TEILNAHME = TEILNAHME ‘ FACHRICHTUNG_ID = FACHRICHTUNG_ID
T ‘ ‘ STUDIENLEISTUNG_ID = STUDIENLEISTUNG_ID
ASSISTENT TEILNAHME
DOZENT SONSTMIT TEILNAHME CHAR(1) Dk
PIN NUMBER(4) <pk.fk2> <pk>
PIN NUMBER(4) <pk.fk2> PIN NUMBER(4) <pk.fk2> AUFGABE_ID NUMBER  <fk1> TEILNAHME_BEZ VARCHAR2(25) STUDIENLEISTUNG
FACHSCHAFT_ID NUMBER  <fk1> AUFGABE_ID NUMBER  <fk1> BEFRISTUNG NUMBER(4) STUDIENLEISTUNG ID NUMBER <pk>
FACHRICHTUNG_ID  NUMBER <fk>
‘ SL_NR VARCHAR2(5)
FACHSCHAFT_ID = FACHSCHAFT_ID AUFGABE_ID = AUFGABE_ID  AUFGABE_ID = AUFGABE_ID SL_Name VARCHAR2(200)
PIN 2 PIN PIN = PIN
FACHSCHAFT AUFGABE ‘
FACHSCHAFT ID NUMBER <pk> AUFGABE ID NUMBER <pk> BETREUT
FACHSCHAFT_BEZ VARCHAR2(30) LIEST AUFGABE_BEZ VARCHAR2(40) PIN NUMBER(4) <pk.fk1>

STUDIENLEISTUNG_ID = STUDIENLEISTUNG_ID

PIN NUMBER(4) <pk.fk1>
VERANSTALTUNG ID NUMBER  <pk.fk2> VERANSTALTUNG_ID = VERANSTALTUNG_ID
Aktuell SMALLINT
VERANSTALTUNG_ID = VERANSTALTUNG_ID
VERANSTALTUNG_STUDIENLEISTUN
VERANSTTYP VERANSTALTUNG S UNG_STU STUNG
VERANSTTYP ID ~ NUMBER <pk> | VERANSTTYP_ID = VERANSTTYP_ID [yERANSTALTUNG ID NUMBER <ok> | _VERANSTALTUNG_ID = VERANSTALTUNG_ID |VERANSTALTUNG ID NUMBER  <pk.fki>
SEoNSR Te =2 SRR o= STUDIENLEISTUNG ID NUMBER <pk.fk2>
VERANSTTYP_BEZ VARCHAR2(50) VERANSTTYP_ID NUMBER <fk> Fachsemester NUMBER
NOTEJN SMALLINT VERANSTALTUNG_BEZ VARCHAR2(70) ECTS NUMBER(3,1)
ANZWDHLGERLAUBT NUMBER ’
VERANSTALTUNG_ID = VERANSTALTUNG_ID
TAG
TAG NUMBER <pk>
WOCHENTAG VARCHAR2(20) TERMIN RAUM
TAG = TAG
TERMIN ID NUMBER <pk> | TERMIN_ID = TERMIN_ID VERANST_TERMIN RAUM ID = RAUM 1D RAUM ID -~ NUMBER <pk> | RAUMART = RAUMART RAUMART
BLOCK TAG NUMBER <fk2> =& RAUM_ID NUMBER <pk,fk1> — .| RAUMART CHAR(2) <fk> RAUMART CHAR(2) <pk>
BLOCK NUMBER <pk: BLOCK = BLOCK BLOCK NUMBER <fk1> VERANSTALTUNG ID NUMBER <pk,fk2> RAUM_NR VARCHAR2(4) RAUMART_BEZ VARCHAR2(30)
STARTZEIT VARCHAR2(5) TERMIN_ID NUMBER <pk,fk3> RAUM_BEZ VARCHAR2(50)
ENDZEIT  VARCHAR2(5) PLAETZE  NUMBER




